AP A] 13 =7+ 9x 4+ 9 = 02] T FolA
2t & o, a + 59| P FSHA?

@D -6 Q -2 3 2 @ 4

=
n

B 8



2.

HFA (24 x)? +2(x2+x+1)-10 =0 & BE A9

D =10

? -2

B -1

@ 2

6



3.

AP A x4 432 4 a =09

I‘Ll

ol 19, 5L



4.

AR A x3 —2x2 4 4x + 3 = 09 A
(1-a)(1-p)(1-7) 2 &L?

1.0
=

@D 2 @ 4 3 6 @ 8

a, B, vyt

® 10

o,



5. AAHAEA ¥ 4 ax +bx-3=02 T Zo] 14 V2i & o, F A5
a,b O Fab o F2? (T, i=V-1)

@D -15 @ -10 ® 0 @ 5 ® 10



6.

B A 2xt —5x% +x2 -5x+2 =02 RE A
FE bt &, at b Y

@ 5 @ 3 @%



AT A 2 + (p-4)x-2p =09 T

Wt pt pl FS T2

O -10EE -2

@ -10x=14 B 10

@ -10%E -1

ftlo

R
v
i

rok
rl
filo

® -10F=

sk



8.

M2+ 2x+1=09] ’éj—ﬂ%%wa}@-q,w2006+(

of 27

D -1 @ 0 31



xof] TS oA AA 42 —x+1 =09 HE «, gL
f(x) = ax® + bx®> + cx +d7t f(a) = a, f(B) =
a+B, f(0) =-12 WESeh o] W ab + cd ©] G227

D =5 ® -1 3 0 @ 1

G
=
>

T

[LH’ ﬂ-_

(@+8)

ool
i



10.

o 283} Zo] RE mAj 2| 9] gho] 28 cm, FBH 17}

28cm?, 217} 8cm

Vg are Aser

@ 5cm
@ +29cm

39 8w} olrk. o] 48w
Ao A W wpet BmAG Ac]A B Bo o2

@ 6cm
® V37cm

® 2+5cm



